MATH

Parallel, Perpendicular Lines and Their Slopes MONKs
1 Determine whether the given slopes form a pair of ‘Parallel’ or ‘Perpendicular’ lines.
a. m=7, m=7 : lines
-5 _ .2 i

b. m= 2 m=-—/— - lines

c. m=9 m = L lines
: 9 .

d. m=11, m=1 = lines

e. m= = m = N lines
' 4 3 s

f. m=8 m=28 o lines

2 Find the slope of the lines and answer the questions that follow.

: 7 _ : _

a. 2x+3y=7 Eb. ?y—Zx—B Ec. 7x-9y=30
Slope of!: . Slope of: . Slope of:
Parallel - Parallel - Parallel
Perpendicular Perpendicular Perpendicular

d x+y=0 e. x-6=2y f y=ix+5

4
Slope of: - Slope of: - Slope of:
Parallel Parallel Parallel
Perpendicular Perpendicular Perpendicular

............ _ _8"_7

g. 3y-2x=4 h.y—?x+5 i y—5x+ﬁ
Slope of: - Slope of: - Slope of:
Parallel - Parallel - Parallel

Perpendicular Perpendicular Perpendicular




MATH

Parallel, Perpendicular Lines and Their Slopes MONKs
Answers
a. m=7, m=7 Parallel lines
b. m= S, 4 Perpendicular lines
2 5 . I ___
c. m=09, m = -1? Perpendicular lines
d m=11, =1 Parallel lines
-3 -4 : :
e. m=— =-3 ____If(_ar_p_e_n_d_lglfl_a_r____ lines
f. m=8, m =28 Parallel lines
a. 2x+3y=7 Ly -2x=3 : ¢. 7x -5y =30
: 5 &
Slope of: Slope of: Slope of:
Parallel 2 Parallel 10 Parallel s
7 5
. 3 . 7 . 5
Perpendicular — Perpendicular | -— Perpendicular | -—
2 10 7
d x+y=0 x-6=2y f y=ix+5
4
Slope of: Slope of: Slope of:
1 3
Parallel - Parallel — Parallel —
aralle 1 aralle 5 aralle 4
Perpendicular 1 Perpendicular - Perpendicular —%
............ _ _8-_7
g. 3y-2x=4 y=—73"X+5 ly=o5x+ 33
Slope of: Slope of: Slope of:
Parallel % Parallel 8 Parallel 5
Perpendicular - Perpendicular e Perpendicular _]T




